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QUESTION 1

Which of the following language categories is MOST commonly used in databases?
A. Query

B. Assembly

C. Markup

D. Scripting

Correct Answer: A

QUESTION 2

A user received an account compromise notice from an online retailer. Two weeks later, the user received another
notice stating the new compromise used the credentials from the first compromise. Which of the following password
best practices MOST likely would have prevented the second compromise?

A. Password age

B. Password complexity

C. Password reuse

D. Password length

Correct Answer: A

QUESTION 3

A systems administrator uses a program that interacts directly with hardware to manage storage, network, and virtual
machines. This program is an example of:

A. a storage area network.
B. an embedded OS.

C. network attached storage.
D. a Type 1 hypervisor.
Correct Answer: D

Unlike Type 2 hypervisors, type 1 hypervisors interact directly with hardware.
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QUESTION 4

A programmer is creating a program that makes a decision based on user input and has decided to use a branching
statement. Which of the following commands would be BEST for the programmer to use?

A.IF THEN
B. WHILE
C.FOR

D. BEGIN

Correct Answer: A

QUESTION 5

Which of the following will a company do to update a customer\\'s address while using a flat file database?
A. Update the address for each order the customer placed.

B. Update the address in the customer address table.

C. Update the address field in the customer order table.

D. Update the primary key to reflect the customer\\'s address.

Correct Answer: B
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